520 Munsell System Y,,=100, Mex

X=96,79,Y,,=100,00Z,,=111,46

08 nC=2,V=1,2,5,8 &9, Mex ¥=0,3140y,,0,3243 =
Sy (%) Ag=(ag-[80,1*a0 A*20 1)) Y — V=5
\Vm — v=1 Bg=(bg—[bo 100 a0 v]) Y — v=8
— Uz 89 = a0 [X/y]
- bg = byo [2/%}
- ap0=1, byo= -0,4
Q GOlRe n = Mex
R 625 =ayy(Y/Y1g~1 ex,
570 o= ZV(Y/Ym_l) 016 -0,011
95¢.E bo,y=bav(Y/Y14-1) 0,014 0,010
8y=-0,017,b,y=0,012 0,003 -0,002
ap,4=0,000,by o=0,000 —-0,0220,016
; CIE 1931 X Munsell System Y,,=100, Mex
0 C=2,V=1,2,5,8&9, Mex
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value Ay, Bo)
EE971-1A EE971-2A
Xy=96,79,Y,,=100,00 Z,=111,46 Xw=96,79,Y,,=100,00Z,,=111,46
X,=0,3140y,,=0,3243 — \\S X,=0,3140y,,=0,3243 - x;
Ar=(ar~[ag n+ag atay y]) Y — V=5 Ax=(ay[ag ntap atan v) Y — V=5
By=(by=[by rtby atby v]) Y — V=8 Bo=(by=[bp,ritby atby v]) Y — V=8
a; = ayg [xy] ay = ayq [(x—0,17D/y]
by =byo [z b = byo [z
ay0=1, byy=-04 ap0=1, byo= -0,4
8 mr1=1,000,br1=0,171
n = Mex n = Mex f(
ag y=ay(Y/Y1g-1 e ap y=apy(Y/Y1g-1]
blYY_bZY(Y/Yw—l) 0,012 -0,007, Z'Y_bzy(wym_l) 0,012 -0,007
1,y=Dav(Y/Y1g-1) 0011 0,007 b2 y=bay(Y/Y14-1) 0,011 0,007
ayy=—0,013,b,y=0,008 0,002 -0,001 ayy=-0,013,b,y=0,008 0,002 -0,001
ay 5=0,000,b; x=0,000 ~0,0170,010 a 4=0,000,b 5=0,000 -0,0170,010
Munsell System Y,,=100, Mex Munsell System Y,,=100, Mex
C=2,V=1,2,5,8&9, Mex C=2,V=1,2,5,8&9, Mex
chromatic value A4, B;) chromatic value (A,, Bo)
EE971-3A EE971-4A
Xy=96,79,Y,,=100,00 Z,=111,46 X=96,79,Y,,=100,00 Z,,=111,46
X=0,3140y,,=0,3243 — \\S X,=0,3140y,,=0,3243 - ﬁ%
Az=(ag-[ag rtag atagyl) Y — V=5 As=(ay~[ag itag ataayl) Y — V=5
B3=(b3—[bs y+b3 a+b3 y]) Y — V=8 B=(4=[bg +bs a0y v]) Y — V=8
a3 = a0 [(x-0,179/y] 84=a50[(x-0,1721y]
b3 = byo [2/Y] bs=byo [(Mpyx+bpy)/Y]
ay0=1, byo=-04 ap0=1, byo= -0,4
my1=1,000,br7=0,171 Mp1=-0,169,bp;=0,389 -
n = Mex n = Mex \
ag y=agy(Y/Y1g-1 ex =ay(Y/Y1g~1 Mex
b3’Y_b2YEY/Y15_1; 0,012 -0,007, ?'Y_b”éwym_li 0,012 -0,007
3,v=boy (Y15 0,011 -0,007 AR NG L —1l{ooy)
a,y=-0,013,b,,=0,008 0,002 -0.,001] apy=-0,013,b,y=0,008 0,002 -0,001
ag 5=0,000,b3 x=0,000 ~0,0170,010 a,,4=0,000,b4 5=0,000 ~0,0170,010
Munsell System Y,,=100, Mex Munsell System Y,,=100, Mex
C=2,V=1,2,5,8&9, Mex C=2,V=1,2,5,8&9, Mex
chromatic value (Ag, Bg) chromatic value (A4, Bs)
EE971-5A EE971-6A
Xy=96,79,Y,,=100,00 Z,=111,46 Xy=96,79,Y,,=100,00 Z,,=111,46
X=0,3140y,,=0,3243 — \\ﬁ% X,=0,3140y,,=0,3243 - ﬁ%
As=(a5-[as n+a5 atas,y]) Y — V=5 Ae=(ag-[26 n*3g, a*a6,v]) Y — V=5
Bs=(05—[bs n+bs a+hs v]) Y — v=8 Bg=(bs—[bg nt0s a0 v]) Y — v=8
as5=ay,[(0,861x-0,719-0,026)§] ag=aXly]
bs=Db,,{(0,19%+0,386/-0,240){] D=5y [(Mp1x+bp1)/y]
ay,=1,00,b,,=1,00 a5,=1,00,b,,=-0,40
Ag,G.y,R=475,503,574,494¢,E nf @ mp;=—0,974,bp;=0,658
n = Mex n = Mex
=a,y(Y/Y1g-1, ex =agy(Y/Y1g~1
ZS’Y—bZY(Y/Yw—l) 0,003 -0,002 aG'Y_bZY(Y/Ym_l) 0,015 -0,005
5,v=Dav(Y/Y1g-1) 0,003 0,002 b6, y=bav(Y/Y14-1) 0,014 0,005
a,y=-0,003,b,y=0,002 0,000 -0.,000 ayy=-0,016,b,y=0,006 0,003 -0,001
a5 5=0,000,b5 x=0,000 0,005 0,003 a5,4=0,000,b5 4=0,000 ~0,0210,008

Munsell System Y,,=100, Mex
C=2,V=1,2,5,8&9, Mex

chromatic value (As, Bs)

Munsell System Y,,=100, Mex
C=2,Vv=1,2,5,8&9, Mex
chromatic value (Ag, Bg)

EE971-7A

EE971-8A

EE971-7N




